
 (
QUESTION
 
1
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)	Comment by Johnson, Lila: Correct answers in multiple choice are signified with italics and underline. Please maintain this in the translation so that the correct answer remains clear.

 (
New
 
technologies
 
rely
 
on
 
early
 
institutional
 
support.
 
In
 
early
 
cases
 
of
Artificial
 
Intelligence
 
this
 
support
 
came
 
from
 
…
Select
 
one:
GOOGLE.
GENERAL
 
MOTORS.
 
APPLE.
DARPA,
 
IBM,
 
MIT.
)


 (
QUESTION
 
2
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
The
 
ability
 
of
 
machines
 
to
 
accomplish
 
complex
 
goals
 
is
 
…
Select
 
one:
impossible.
not
 
accepted
 
as
 
a
 
definition
 
for
 
AI.
 
termed
 
Artificial
Intelligence.
unnecessary.
)


 (
24.01.2022
) (
1
/113
) (
(c)
 
IU
)


 (
BIG
 
Data
 
is
 
…
Select
 
one:
not
 
real-time
 
data.
characterized
 
by
 
the
 
dimensions
 
volume,
 
velocity,
 
variety,
 
veracity,
 
validity,
 
and
 
value.
structured
 
data.
undefined
 
at
 
this
 
stage.
)


 (
QUESTION
 
4
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
Neural
 
Networks
 
are
 
modelled
 
after
 
…
Select
 
one:
the
 
human
 
brain.
 
the
 
human
 
liver.
 
the
 
human
 
heart.
 
the
 
human
mind.
)

[image: ] (
QUESTION
 
3
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
24.01.2022
) (
2
/113
) (
(c)
 
IU
)


 (
Future
 
trends
 
in
 
Artificial
 
Intelligence
 
point
 
in
 
the
 
direction
 
of
 
…
Select
 
one:
assisted
 
intelligence
 
only.
assisted-,
 
augmented-
 
and
 
autonomous
 
intelligence.
augmented
 
Intelligence
 
only.
autonomous
 
intelligence
 
only.
)


 (
QUESTION
 
6
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
In
 
what
 
time
 
period
 
did
 
Expert
 
Systems
 
began
 
to
 
be
 
commercially
successful?
Select
 
one:
1932
1980
1945
2003
)

[image: ] (
QUESTION
 
5
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
24.01.2022
) (
3
/113
) (
(c)
 
IU
)


 (
Linguistics
 
is
 
knowledge
 
about
 
how
 
humans
 
communicate
 
…
Select
 
one:
with
 
each
 
other
 
and
 
machines.
with
 
animals.
 
telephonically.
with
 
hand
 
signs.
)


 (
QUESTION
 
8
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
Sensing
 
and
 
perception,
 
learning
 
and
 
understanding,
 
reasoning
 
and
intelligence
 
pertain
 
to
 
the
 
notion
 
of
 
…
Select
 
one:
recognition.
 
physiology.
 
cognition.
 
physics.
)

[image: ] (
QUESTION
 
7
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
24.01.2022
) (
4
/113
) (
(c)
 
IU
)


 (
Psychological
 
models
 
experiment
 
with
 
…
Select
 
one:
physical
 
models.
 
computer
 
models.
 
humans
 
and
 
animals.
 
algorithms
 
only.
)


 (
QUESTION
 
10
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
Gaming
 
plays
 
a
 
constructive
 
part
 
in
 
Artificial
 
Intelligence
 
because
 
…
Select
 
one:
it
 
occupies
 
researchers
 
time
 
when
 
they
 
have
 
no
 
project
 
to
 
pursue.
it
 
covers
 
learning
 
and
 
decision
 
making
 
under
 
uncertainty
 
and
 
adversarial
 
conditions.
one
 
can
 
solve
 
games
 
like
 
Chess
.
gaming
 
algorithms
 
create
 
an
 
advantage
 
for
 
gamblers
 
betting
 
money.
)

[image: ] (
QUESTION
 
9
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
24.01.2022
) (
5
/113
) (
(c)
 
IU
)


 (
In
 
the
 
Theory
 
of
 
Games,
 
player
 
X's
 
move
 
affects
 
player
 
Y's
 
choices,
 
and
 
that
means
 
…
Select
 
one:
Y
wins.
strategies
 
have
 
to
 
take
 
the
 
opponent's
 
actions
 
into
 
account.
X
wins.
neither
 
X
 
nor
 
Y
 
wins,
 
and
 
both
 
move
 
on.
)

[image: ] (
QUESTION
 
11
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
24.01.2022
) (
6
/113
) (
(c)
 
IU
)


 (
Quantum
 
Computing
 
is
 
…
Select
 
one:
an
 
emerging
 
technology
 
of
 
supercomputing.
a
 
science
 
fiction.
a
 
computing
 
resource
 
unit.
already
 
widely
 
commercially
 
available.
)


 (
QUESTION
 
13
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
What
 
does
 
The
 
"Internet
 
of
 
Things",
 
referred
 
to
 
as
 
"IoT",
 
connect?
Select
 
one:
It
 
connects
 
clothing.
It
 
connects
 
homes,
 
cars
 
and
 
wearables.
It
 
connects
 
kitchen
 
utensils.
It
 
connects
 
home
 
electronics
 
only.
)

[image: ] (
QUESTION
 
12
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
01
)

 (
24.01.2022
) (
7
/113
) (
(c)
 
IU
)


 (
What
 
does
 
Artificial
 
Intelligence
 
try
 
to
 
emulate?
Select
 
one:
Rational,
 
goal-oriented,
 
human-like
 
thinking
 
and
 
acting
It
 
is
 
not
 
real,
 
it
 
is
 
artificial.
Human-like
 
thinking,
 
but
 
not
 
human-like
 
acting
Human-like
 
acting
 
but
 
not
 
human-like
 
thinking
)

[image: ] (
QUESTION
 
14
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
8
/113
) (
(c)
 
IU
)


 (
What
 
are
 
the
 
differences
 
between
 
Weak-
 
and
 
Strong
 
Artificial
 
Intelligence?
Select
 
one:
Weak
 
means
 
not
 
amounting
 
to
 
much,
 
and
 
strong
 
means
 
dominant.
Weak
 
means
 
underfunded
 
and
 
strong
 
means
 
well
 
funded
.
Weak
 
means
 
to
 
implement
 
specialized
 
cognitive
 
functions,
 
strong
 
means
 
a
 
general
 
form
 
of
 
intelligence.
Weak
 
means
 
pre-1970
 
and
 
strong
 
means
 
post
 
2008.
)


 (
QUESTION
 
16
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
The
 
Term
 
Automaton
 
refers
 
to
 
…
Select
 
one:
vending
 
machines.
automation
 
in
 
general.
a
 
self-operating
 
machine
 
or
 
control
 
mechanism
 
that
 
automatically
 
follows
 
a
 
predetermined
 
sequence
 
of
 
operations.
cars.
)

[image: ] (
QUESTION
 
15
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
9
/113
) (
(c)
 
IU
)


 (
What
 
science
 
branch
 
is
 
Machine
 
Learning
 
(ML)
?
Select
 
one:
Neurobiology
Mechanical
 
engineering
 
because
 
it
 
deals
 
with
 
machines
Automobile
 
repair
Computer
 
Science
 
and
 
Statistics,
 
Data
 
Science
)


 (
QUESTION
 
18
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
Who
 
provided
 
the
 
first
 
systematic
 
treatment
 
of
 
logical
 
syllogisms?
Select
 
one:
David
 
Hume
 
Rene
 
Descartes
 
Aristotle
 
Socrates
)

[image: ] (
QUESTION
 
17
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
10
/113
) (
(c)
 
IU
)


 (
Alan
 
Turing,
 
the
 
English
 
mathematician,
 
is
 
credited
 
for
 
developing
 
…
Select
 
one:
both
 
COBOL
 
and
 
FORTRAN
 
programming
 
languages.
the
 
PROLOG
 
language.
the
 
LISP
 
language.
a
 
test
 
for
 
detecting
 
machine
 
intelligence.
)


 (
QUESTION
 
20
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
Which
 
American
 
scientist
 
was
 
involved
 
in
 
coining
 
the
 
term
 
"
Artificial
Intelligence"?
Select
 
one:
Alexander
 
Bell
 
John
 
McCarty
 
Benjamin
 
Franklin
 
Bill
 
Gates
)

[image: ] (
QUESTION
 
19
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
11
/113
) (
(c)
 
IU
)


 (
The
 
meaning
 
of
 
the
 
expression
 
"AI
 
Winter" 
is
 
…
Select
 
one:
related
 
to
 
climate
 
change.
related
 
to
 
a
 
hypothetical
 
event
 
that
 
so
 
far
 
has
 
not
 
occurred.
derived
 
from
 
the
 
term
 
NUCLEAR
 
WINTER.
related
 
to
 
business
 
risk.
)

[image: ] (
QUESTION
 
21
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
12
/113
) (
(c)
 
IU
)


 (
The
 
successive
 
intellectual
 
insights
 
gained
 
from
 
Expert
 
Systems,
 
to
Linguistics,
 
to
 
cognition,
 
to
 
machine
 
learning,
 
to
 
Internet
 
of
 
Things
 
and
 
human
 
brain
 
simulations,
 
constitute
 
what
 
trend?
Select
 
one:
A
 
trend
 
in
 
the
 
decline
 
of
 
intellectual
 
property
 
protection
A
 
trend
 
in
 
the
 
direction
 
of
 
loss
 
of
 
human
 
control
A
 
trend
 
in
 
computing
 
only
A
 
trend
 
of
 
the
 
path
 
of
 
Artificial
 
Intelligence
 
progress
)

[image: ] (
QUESTION
 
22
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
13
/113
) (
(c)
 
IU
)


 (
Cognitive
 
science
 
is
 
an
 
interdisciplinary
 
field
 
of
 
study,
 
made
 
up
 
from
 
fields
like
 
…
Select
 
one:
mathematics
 
and
 
physics.
 
print
 
and
photography.
office
 
management
 
and
 
education.
Philosophy,
 
Psychology,
 
Neuroscience,
 
Linguistics,
 
Anthropology.
)

[image: ] (
QUESTION
 
23
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
14
/113
) (
(c)
 
IU
)


 (
Neurophysiological
 
models
 
examine
 
…
Select
 
one:
physics laboratory
 
experiments
 
only.
the
 
outputs
 
of
 
neural
 
networks.
the
 
results
 
of
 
chemical
 
reactions.
the
 
function
 
of
 
nerve
 
tissue.
)


 (
QUESTION
 
25
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
Who
 
introduced
 
the
 
idea
 
of
 
GANNs,
 
Generative
 
Adversarial
 
Neural
Networks,
 
for
 
the
 
first
 
time?
Select
 
one:
Eric
 
Schmidt
 
from
 
Google
Steven
 
Jobs
 
from
 
Apple
 
Computer
Bill
 
Gates
 
of
 
Microsoft
Ian
 
Goodfellow,
 
University
 
of
 
Montreal
)

[image: ] (
QUESTION
 
24
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
01
)

 (
24.01.2022
) (
15
/113
) (
(c)
 
IU
)


 (
When
 
we
 
state
 
that
 
technology
 
is
 
bound
 
by
 
law,
 
the
 
interpretation
 
in
 
the
context
 
of
 
AI
 
is:
Select
 
one:
Artificial
 
Intelligence
 
is
 
neither
 
person
 
nor
 
State
 
and
 
is
 
exempt
 
from
 
laws.
The
 
juridical
 
philosophy
 
from
 
the
 
1600s
 
does
 
not
 
apply
 
to
 
our
 
time.
Artificial
 
Intelligence
 
in
 
outer
 
Space
 
is
 
not
 
covered
 
by
 
any
 
law.
Autonomous
 
vehicles
 
must
 
obey
 
traffic
 
laws
 
and
 
must
 
respect
 
the
 
physical
 
integrity
 
of
 
traffic
 
participants,
 
for
 
instance.
)

[image: ] (
QUESTION
 
26
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
01
)

 (
24.01.2022
) (
16
/113
) (
(c)
 
IU
)


 (
Quantum
 
computing
 
might
 
become
 
relevant
 
for
 
AI
 
due
 
to
 
…
Select
 
one:
its
 
capabilities
 
for
 
serial
 
computation.
it
 
being
 
a
 
probabilistic
 
approach
 
that
 
is
 
also
 
highly
 
suited
 
for
 
optimization
 
problems.
the
 
holographic
 
principle.
the
 
Heisenberg
 
uncertainty
 
principle.
)


 (
QUESTION
 
28
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
01
)

 (
The
 
programming
 
language
 
PROLOG
 
is
 
intended
 
to
 
…
Select
 
one:
solve
 
problems
 
by
 
logic.
solve
 
problems
 
by
 
enumerating
 
all
 
options.
 
solve
 
problems
 
by
 
intuition.
solve
 
problems
 
by
 
enumerating
 
all
 
possible
 
combinations
 
and
permutations.
)

[image: ] (
QUESTION
 
27
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
01
)

 (
24.01.2022
) (
17
/113
) (
(c)
 
IU
)


 (
"IoT"
 
is
 
an
 
emerging
 
Artificial
 
Intelligence
 
technology
 
and
 
the
 
abbreviation
means
 
…
Select
 
one:
Internet
 
of
 
Things.
Intelligence
 
of
 
Things.
Intent
 
of
 
Things.
Information
 
of
 
Things.
)


 (
QUESTION
 
30
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
02
)

 (
Companies
 
like
 
Boeing
 
used
 
Expert
 
systems
 
early-on,
 
in
 
order
 
to
 
…
Select
 
one:
report
 
financial
 
results.
outsource
 
component
 
manufacturing.
improve
 
operations.
comply
 
with
 
government
 
regulations.
)

[image: ] (
QUESTION
 
29
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
01
)

 (
24.01.2022
) (
18
/113
) (
(c)
 
IU
)


 (
The
 
word
 
"Expert"
 
in
 
Expert
 
Systems
 
makes
 
reference
 
to
 
a
 
human
 
skill
level,
 
which
 
is
 
best
 
described
 
as
 
…
Select
 
one:
a
 
human
 
skill
 
level
 
that
 
is
 
equivalent
 
to
 
a
 
4-year
 
college
 
degree.
a
 
human
 
skill
 
level
 
corresponding
 
to
 
primary
 
school.
a
 
human
 
skill
 
level
 
that
 
is
 
equal
 
to
 
high
 
school.
a
 
human
 
skill
 
level
 
corresponding
 
to
 
specialized
 
knowledge
 
in
 
a
 
particular
 
domain.
)


 (
QUESTION
 
32
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
02
)

 (
What
 
is
 
one
 
of
 
the
 
main
 
parts
 
that
 
Expert
 
Systems
 
relies
 
on?
Select
 
one:
Inference
 
base
 
Inventory
 
base
 
Knowledge
 
base
 
Data
 
base
)

[image: ] (
QUESTION
 
31
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
02
)

 (
24.01.2022
) (
19
/113
) (
(c)
 
IU
)


 (
The
 
inference
 
engine
 
of
 
an
 
Expert
 
System
 
is
 
used
 
to
 
…
Select
 
one:
link
 
to
 
Wikipedia.
scrape
 
web-pages
 
for
 
new
 
facts
 
and
 
rules.
derive
 
new
 
facts,
 
rules,
 
and
 
conclusions.
store
 
known
 
facts.
)


 (
QUESTION
 
34
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
02
)

 (
In
 
PROLOG
 
the
 
statement
 
"Katherine
 
owns
 
an
 
automobile"
 
is
 
…
Select
 
one:
a
 
fact.
a
 
goal.
a
 
question.
 
a
variable.
)

[image: ] (
QUESTION
 
33
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
02
)

 (
24.01.2022
) (
20
/113
) (
(c)
 
IU
)


 (
Which
 
of
 
the
 
following
 
learning
 
paradigms
 
does
 
not
 
belong
 
to
 
Machine
Learning?
Select
 
one:
Reinforcement
 
learning
 
Supervised
 
learning
 
Unsupervised
 
learning
 
Unguided
 
learning
)


 (
QUESTION
 
36
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
02
)

 (
An
 
effort
 
in
 
the
 
1960s
 
and
 
later
 
to
 
combine
 
domain
 
facts
 
with
 
a
 
logic
 
based
inference
 
engine
 
to
 
derive
 
answers
 
to
 
questions,
 
was
 
called
 
…
Select
 
one:
computer
 
simulation.
Computer
 
programming.
 
Expert
 
Systems.
computer
 
optimization.
)

[image: ] (
QUESTION
 
35
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
02
)

 (
24.01.2022
) (
21
/113
) (
(c)
 
IU
)


 (
The
 
difference
 
between
 
supervised
 
learning
 
and
 
unsupervised
 
learning
 
is
this:
Select
 
one:
Supervised
 
learning
 
is
 
based
 
on
 
a
 
utility
 
function
 
whereas
 
unsupervised
 
learning
 
is
 
not.
In
 
supervised
 
learning
 
training
 
data
 
is
 
labelled,
 
while
 
in
 
unsupervised
 
learning
 
it
 
is
 
not.
Unsupervised
 
Learning
 
is
 
based
 
on
 
Bayesian
 
statistics
 
while
 
supervised
 
learning
 
is
 
always
 
based
 
on
 
frequentist
 
statistics.
Supervised
 
learning
 
uses
 
the
 
sample
 
information
 
efficiently
 
whereas
 
unsupervised
 
learning
 
does
 
not.
)

[image: ] (
QUESTION
 
37
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
02
)

 (
24.01.2022
) (
22
/113
) (
(c)
 
IU
)


 (
Regression
 
and
 
classification
 
belong
 
to
 
the
 
field
 
of
 
…
Select
 
one:
unsupervised
 
learning.
reinforcement
 
learning.
supervised
 
learning.
associative
 
learning.
)


 (
QUESTION
 
39
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
02
)

 (
Declarative
 
statements
 
in
 
Prolog
 
are
 
statements
 
of
 
…
Select
 
one:
facts
 
and
 
rules.
conclusion.
 
merit.
intent.
)

[image: ] (
QUESTION
 
38
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
02
)

 (
24.01.2022
) (
23
/113
) (
(c)
 
IU
)


 (
The
 
Prolog,
 
the
 
statement
 
?
-
 
lectures
 
(Smith,
 
DLMAIAI101)
 
defines
 
…
Select
 
one:
a
 
predicate.
a
 
goal.
a
 
query.
a
 
fact.
)


 (
QUESTION
 
41
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
02
)

 (
Which
 
of
 
the
 
following
 
approaches
 
has
 
not
 
been
 
employed
 
to
 
build
 
the
knowledge
 
base
 
of
 
an
 
Expert
 
System?
Select
 
one:
Case-based
 
approach
 
Graph-based
 
approach
 
Rule-based
 
approach
Decision-tree-based
 
approach
)

[image: ] (
QUESTION
 
40
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
02
)

 (
24.01.2022
) (
24
/113
) (
(c)
 
IU
)


 (
Unlike
 
Java
 
and
 
C,
 
PROLOG
 
implements
 
the
 
following
 
programming
paradigm
 
…
Select
 
one:
functional.
 
imperative.
 
procedural.
 
declarative.
)


 (
QUESTION
 
43
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
02
)

 (
Machine
 
Learning
 
(ML)
 
includes
 
the
 
following
 
sub-groupings:
Select
 
one:
Supervised
 
learning,
 
unsupervised
 
learning,
 
reinforcement
 
learning.
Supervised
 
learning,
 
non-learning,
 
unsupervised
 
learning.
Unsupervised
 
learning,
 
shallow
 
learning,
 
supervised
 
learning.
Unsupervised
 
learning,
 
supervised
 
learning,
 
deductive
 
learning.
)

[image: ] (
QUESTION
 
42
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
02
)

 (
24.01.2022
) (
25
/113
) (
(c)
 
IU
)


 (
Supervised
 
learning
 
of
 
a
 
continuous
 
output
 
variable
 
is
 
called
 
…
Select
 
one:
clustering.
 
regression.
 
adaptation.
 
classification.
)


 (
QUESTION
 
45
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
The
 
entire
 
human
 
brain,
 
viewed
 
as
 
a
 
communications
 
network,
 
is
 
designed
to
 
…
Select
 
one:
stay
 
fixed
 
in
 
form
 
and
 
function.
move
 
random
 
electrical
 
signals
 
around.
cool
 
the
 
blood
 
by
 
passing
 
it
 
through
 
its
 
vast
 
surface
 
area.
uphold
 
and
 
regulate
 
bodily
 
functions.
)

[image: ] (
QUESTION
 
44
 
OF
 
209
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 (
24.01.2022
) (
26
/113
) (
(c)
 
IU
)


 (
What
 
does
 
Cognitive
 
Sciences
 
focus
 
on?
Select
 
one:
The
 
lower
 
back
The
 
study
 
of
 
cognitive
 
processes
The
 
spinal
 
column
 
but
 
not
 
the
 
brain
The
 
brain
)


 (
QUESTION
 
47
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
Cognitive
 
Science
 
is
 
interdisciplinary
 
and
 
includes
 
the
 
study
 
of
Neuroscience,
 
Philosophy,
 
Psychology,
 
and
 
…
Select
 
one:
Zoology.
 
Linguistics.
 
History.
Metaphysics.
)

[image: ] (
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 (
The
 
study
 
of
 
Cognitive
 
Sciences
 
includes
 
Psychology
 
and
 
also
 
…
Select
 
one:
Economics.
 
Philosophy.
 
Chemistry.
 
Photography.
)


 (
QUESTION
 
49
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
What
 
issues
 
has
 
Neuroscience
 
successfully
 
addressed?
Select
 
one:
Neuroscience
 
is
 
an
 
interdisciplinary
 
field
 
of
 
study
 
addressing
 
the
 
brain
 
and
 
its
 
functions.
Mental
 
disease
 
management
How
 
to
 
regulate
 
human
 
emotions
Brain
 
operations
 
during
 
anaesthesia
)

[image: ] (
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 (
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) (
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/113
) (
(c)
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 (
Perception
 
is
 
achieved
 
by
 
electrical
 
signals
 
which
 
originate
 
from
 
receptors
and
 
then
 
travel
 
to
 
…
Select
 
one:
the ears.
 
the brain.
 
the heart.
 
the
eyes.
)


 (
QUESTION
 
51
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
Are
 
human
 
brain
 
and
 
mind
 
the
 
same?
Select
 
one:
Brain
 
and
 
mind
 
are
 
opposites.
Brain
 
and
 
mind
 
are
 
similar.
Mind
 
and
 
brain
 
are
 
the
 
same.
Brain
 
and
 
mind
 
are
 
not
 
the
 
same.
)

[image: ] (
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 (
A
 
neural
 
network
 
has
 
an
 
input
 
layer,
 
one
 
or
 
more
 
hidden
 
layers
 
and
 
another
one
 
called
 
…
Select
 
one:
output
 
layer.
computed
 
layer.
final
 
layer.
next
 
layer.
)


 (
QUESTION
 
53
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
Meta
 
Learning
 
can
 
be
 
described
 
as
 
…
Select
 
one:
learning
 
fast.
forgetting.
learning
 
how
 
to
 
learn.
learning
 
a
 
lot.
)

[image: ] (
QUESTION
 
52
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
24.01.2022
) (
30
/113
) (
(c)
 
IU
)


 (
The
 
human
 
mind,
 
according
 
to
 
Daniel
 
Siegal,
 
is
 
…
Select
 
one:
not
 
relevant
 
to
 
the
 
study
 
of
 
the
 
human
 
brain.
without
 
relation
 
to
 
outside
 
objects
 
and
 
processes.
a
 
self-organizing
 
and
 
relational
 
process,
 
embodied
 
in
 
the
 
human
 
persona.
a
 
persons'
 
ability
 
to
 
handle
 
basic
 
mathematics.
)

[image: ] (
QUESTION
 
54
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
24.01.2022
) (
31
/113
) (
(c)
 
IU
)


 (
The
 
question
 
of
 
whether
 
Artificial
 
Intelligence
 
will
 
replace
 
human
 
intelligence
…
Select
 
one:
is
 
not
 
of
 
interest
 
to
 
current
 
researchers.
has
 
been
 
settled
 
and
 
the
 
answer
 
is
 
no.
remains
 
unresolved.
has
 
been
 
settled
 
and
 
the
 
answer
 
is
 
yes.
)


 (
QUESTION
 
56
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
Electrical
 
signals
 
originating
 
from
 
a
 
neuron
 
are
 
passed
 
on
 
to
 
other
 
neurons
via
 
…
Select
 
one:
gray
 
matter.
 
dendrite.
 
the
axon.
the
 
soma.
)

[image: ] (
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55
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
03
)

 (
24.01.2022
) (
32
/113
) (
(c)
 
IU
)


 (
Neuro-
 
and
 
Cognitive
 
Science
 
addresses
 
…
Select
 
one:
emotions
 
and
 
behaviour
 
but
 
not
 
bodily
 
functions
 
like
 
breathing.
the
 
quality
 
of
 
life.
brain
 
functions,
 
neurologically
 
controlled
 
bodily
 
functions,
 
behaviour
,
 
cognition.
diagnoses
 
of
 
epilepsy
 
and
 
headaches.
)

[image: ] (
QUESTION
 
57
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
24.01.2022
) (
33
/113
) (
(c)
 
IU
)


 (
What
 
do
 
right
 
and
 
left
 
hemispheres
 
of
 
the
 
brain
 
predominantly
 
control?
Select
 
one:
Neither
 
right
 
nor
 
left
 
control
 
either
 
side
 
of
 
the
 
body.
Both
 
hemispheres
 
control
 
both
 
parts
 
of
 
the
 
body
 
equally.
The
 
right
 
hemisphere
 
controls
 
the
 
left
 
part
 
of
 
the
 
body
 
and
 
vice
 
versa.
The
 
right
 
hemisphere
 
controls
 
the
 
right
 
part
 
of
 
the
 
body,
 
and
 
the
 
left
 
hemisphere
 
the
 
left
 
part
 
of
 
the
 
body.
)


 (
QUESTION
 
59
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
Small
 
electrical
 
signals
 
enter
 
a
 
neuron,
 
which
 
is
 
a
 
nerve
 
cell,
 
via
 
…
Select
 
one:
dendrites.
 
blood
 
vessels.
 
cartilage.
 
axons.
)

[image: ] (
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OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
24.01.2022
) (
34
/113
) (
(c)
 
IU
)


 (
Which
 
of
 
the
 
following
 
activate
 
neurons?
Select
 
one:
Activation
 
is
 
hardwired
 
into
 
the
 
neuron
 
itself
The
 
square
 
root
 
of
 
all
 
signal
 
weights
 
reaching
 
a
 
threshold
Signal
 
strength
 
squared
The
 
sum
 
of
 
all
 
weighted
 
inputs
 
reaching
 
a
 
threshold
)


 (
QUESTION
 
61
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
A
 
"self-organizing
 
process"
 
is
 
one
 
in
 
which
 
…
Select
 
one:
there
 
are
 
no
 
winners.
disorder
 
is
 
maintained
 
by
 
itself.
spontaneous
 
order
 
is
 
established
 
from
 
local
 
interactions.
the
 
winner
 
takes
 
all.
)

[image: ] (
QUESTION
 
60
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
24.01.2022
) (
35
/113
) (
(c)
 
IU
)


 (
The
 
human
 
faculty
 
of
 
conscience,
 
as
 
inner
 
feelings
 
about
 
morality,
 
pertains
to
 
…
Select
 
one:
rationality.
 
correct
 
thinking.
 
right
 
and
 
wrong.
 
introspection.
)


 (
QUESTION
 
63
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
The
 
human
 
faculty
 
of
 
self-awareness
 
is
 
explained
 
by
 
…
Select
 
one:
sense
 
of
 
right
 
and
 
wrong.
knowledge
 
of
 
being.
reasons
 
for
 
causes.
rationality.
)

[image: ] (
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209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
24.01.2022
) (
36
/113
) (
(c)
 
IU
)


 (
The
 
human
 
faculty
 
of
 
judgement
 
can
 
be
 
explained
 
by
 
…
Select
 
one:
evidence
 
based
 
decision
 
making.
 
memory.
rules
 
in
 
a
 
process.
recalling
 
information.
)


 (
QUESTION
 
65
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
The
 
human
 
faculty
 
of
 
language
 
can
 
be
 
demonstrated
 
by
 
…
Select
 
one:
correct
 
thinking.
 
rationality.
 
introspection.
the
 
ability
 
to
 
use
 
language
 
in
 
all
 
its
varieties.
)

[image: ] (
QUESTION
 
64
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
24.01.2022
) (
37
/113
) (
(c)
 
IU
)


 (
The
 
human
 
faculty
 
of
 
imagination
 
can
 
be
 
demonstrated
 
by
 
…
Select
 
one:
reasons
 
for
 
causes.
seeing
 
possibilities
 
beyond
 
what
 
is
 
being
 
perceived.
recalling
 
information.
sense
 
of
 
right
 
and
 
wrong.
)


 (
QUESTION
 
67
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
The
 
human
 
faculty
 
of
 
memory
 
can
 
be
 
shown
 
by
 
the
 
ability
 
of
 
…
Select
 
one:
forgetting.
 
imagination.
 
recalling.
 
deciding
 
right
 
and
wrong.
)

[image: ] (
QUESTION
 
66
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
24.01.2022
) (
38
/113
) (
(c)
 
IU
)


 (
The
 
human
 
faculty
 
of
 
thinking
 
is
 
explained
 
by
 
…
Select
 
one:
demonstrating
 
plausible
 
reasons
 
or
 
causes
 
for
 
observed
 
phenomena.
see
 
self
 
clearly.
sense
 
of
 
right
 
and
 
wrong.
a
 
vivid
 
imagination.
)


 (
QUESTION
 
69
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
03
)

 (
In
 
Artificial
 
Intelligence
 
the
 
concept
 
of
 
a
 
"Singularity"
 
is
 
…
Select
 
one:
when
 
Artificial
 
Intelligence
 
collapses.
an
 
event
 
when
 
a
 
sufficiently
 
highly
 
developed
 
AI
 
starts
 
recursively
 
improving
 
itself.
undefined
 
at
 
the
 
moment
.
a
 
single
 
event.
)
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 (
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) (
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)


 (
The
 
acronym
 
GAN
 
(sometimes
 
also
 
called
 
GANN)
 
in
 
Artificial
 
Intelligence
means
 
…
Select
 
one:
General
 
Artificial
 
News
 
Networks.
General
 
Advanced
 
Networks.
General
 
Augmented
 
Networks.
Generative
 
Adversarial
 
(Neural)
 
Networks.
)
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 (
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) (
40
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(c)
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)


 (
The
 
human
 
brain
 
is
 
compartmentalized
 
into
 
different
 
lobes,
 
where
 
for
instance
 
the
 
Parietal
 
lobe
 
mostly
 
controls
 
…
Select
 
one:
the
 
integration
 
and
 
interpretation
 
of
 
sensory
 
input.
language.
early
 
stages
 
of
 
auditory
 
signal
 
processing.
early
 
stages
 
of
 
vision.
)

[image: ] (
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71
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03
)

 (
24.01.2022
) (
41
/113
) (
(c)
 
IU
)


 (
What
 
are
 
some
 
of
 
the
 
attributes
 
of
 
the
 
human
 
mind?
Select
 
one:
The
 
mind
 
grows
 
with
 
the
 
person's
 
experience
 
and
 
environment
 
over
 
time.
The
 
mind
 
controls
 
breathing.
It
 
is
 
physical
 
like
 
a
 
lobe
 
in
 
the
 
brain.
It
 
is
 
fixed
 
in
 
every
 
person
 
and
 
never
 
changes.
)


 (
QUESTION
 
73
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
03
)

 (
Whether
 
a
 
neuron
 
decides
 
to
 
pass
 
on
 
a
 
signal
 
depends
 
on
 
…
Select
 
one:
its
 
inputs
 
and
 
the
 
activation
 
function.
only
 
the
 
activation
 
function.
another
 
unconnected
 
neuron
 
nearby.
its
 
inputs
 
only.
)
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 (
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) (
42
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) (
(c)
 
IU
)


 (
Artificial
 
Intelligence
 
and
 
Computer
 
Science
 
benefit
 
from
 
each
 
others'
advances
 
and
 
those
 
advances
 
are
 
…
Select
 
one:
found
 
in
 
the
 
leadership
 
of
 
Computer
 
Science.
perfectly
 
synchronized.
 
not
 
always
 
synchronized.
entirely
 
dependent
 
on
 
funding.
)


 (
QUESTION
 
75
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
In
 
the
 
decade
 
of
 
the
 
1990s
 
computing
 
became
 
an
 
industry
 
characterized
 
by
…
Select
 
one:
Artificial
 
Intelligence.
the
 
first
 
commercial
 
UNIVAC
 
computer,
 
and
 
higher
 
level
 
languages.
working
 
robots.
the
 
Python
 
Language.
)

[image: ] (
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 (
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) (
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(c)
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 (
In
 
the
 
1950s,
 
major
 
advances
 
in
 
computing
 
were
 
that
 
…
Select
 
one:
transistors
 
replaced
 
vacuum
 
tubes,
 
among
 
others.
vacuum
 
tubes
 
replaced
 
transistors.
MS-DOS
 
became
 
the
 
ruling
 
operating
 
system.
Facebook
 
evolved
 
into
 
a
 
potential
 
privacy
 
threat.
)

[image: ] (
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76
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)

 (
24.01.2022
) (
44
/113
) (
(c)
 
IU
)


 (
In
 
the
 
1990s,
 
computer
 
hardware
 
became
 
…
Select
 
one:
more
 
centralized
 
in
 
corporate
 
data
 
centers.
nearly
 
obsolete
 
due
 
to
 
miniaturization.
physically
 
larger
 
than
 
in
 
prior
 
periods
 
and
 
less
 
powerful
 
in
 
terms
 
of
 
capacity,
 
at
 
the
 
same
 
time.
physically
 
smaller
 
than
 
in
 
prior
 
periods
 
and
 
more
 
powerful
 
in
 
terms
 
of
 
capacity,
 
all
 
at
 
the
 
same
 
time.
)


 (
QUESTION
 
78
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
In
 
the
 
1990s,
 
many
 
technology
 
concepts
 
that
 
are
 
still
 
with
 
us
 
today
emerged,
 
such
 
as
 
…
Select
 
one:
Cell
 
phones
 
with
 
Internet
 
access.
Time
 
Sharing.
Photoshop
 
and
 
the
 
world
 
wide
 
web
 
(www).
Cloud
 
Computing.
)
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 (
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) (
45
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(c)
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)


 (
What
 
was
 
the
 
highlight
 
in
 
the
 
ten
 
years
 
following
 
2000?
Select
 
one:
Vacuum
 
tubes
 
became
 
even
 
more
 
powerful.
Software
 
and
 
hardware
 
became
 
more
 
integrated.
IBM's
 
models
 
360
 
and
 
7000
 
dominated
 
the
 
corporate
 
computer
 
center.
The
 
hyper
 
text
 
transfer
 
protocol
 
(http)
 
first
 
appeared.
)

[image: ] (
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79
 
OF
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)

 (
24.01.2022
) (
46
/113
) (
(c)
 
IU
)


 (
Supply
 
chains
 
connect
 
companies
 
from
 
raw
 
material
 
to
 
consumer
 
products,
and
 
…
Select
 
one:
Artificial
 
Intelligence
 
disconnects
 
supply
 
chains.
supply
 
chains
 
are
 
designed
 
to
 
be
 
within
 
commuting
 
distance
 
from
 
each
 
other.
Cloud
 
computing
 
connects
 
companies
 
in
 
a
 
supply
 
chain.
the
 
telephone
 
connects
 
supply
 
chains.
)
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)

 (
24.01.2022
) (
47
/113
) (
(c)
 
IU
)


 (
In
 
which
 
ways
 
is
 
Computer
 
Time
 
Sharing
 
related
 
to
 
Cloud
 
computing
 
?
Select
 
one:
Full
 
ownership
 
and
 
control
 
of
 
vital
 
computing
 
resources
Sharing
 
resource,
 
renting
 
not
 
buying
The
 
two
 
concepts
 
are
 
distinctly
 
different
 
and
 
not
 
related
 
in
 
any
 
way.
Time
 
Sharing
 
was
 
not
 
available
 
until
 
2009.
)


 (
QUESTION
 
82
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
Cloud
 
Computing
 
is
 
always
 
available
 
to
 
everybody,
 
all
 
the
 
time.
 
In
 
this
sense,
 
it
 
can
 
be
 
compared
 
to
 
…
Select
 
one:
a
 
utility
 
like
 
water,
 
or
 
electricity.
primary
 
economic
 
activities
 
such
 
as
 
mining
 
and
 
quarring
.
public
 
adminstration
.
industrial
 
manufactoring
.
)
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 (
24.01.2022
) (
48
/113
) (
(c)
 
IU
)


 (
In
 
which
 
way
 
does
 
Narrow
 
Artificial
 
Intelligence
 
display
 
human
 
intelligence?
Select
 
one:
It
 
does
 
not
 
have
 
to
 
display
 
intelligence
 
in
 
one
 
domain
 
or
 
any
 
other,
 
at
 
this
 
time
.
Only
 
in
 
one
 
domain
 
at
 
a
 
time
In
 
no
 
more
 
than
 
20
 
domains
 
at
 
a
 
time
It
 
is
 
too
 
narrow
 
to
 
display
 
significant
 
intelligence
 
in
 
any
 
domain.
)


 (
QUESTION
 
84
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
General
 
Artificial
 
Intelligence
 
implies
 
…
Select
 
one:
only
 
task
 
specific
 
intelligence.
intelligence
 
at
 
least
 
comparable
 
in
 
breadth
 
and
 
depth
 
to
 
human
 
intelligence.
military
 
AI.
no
 
task
 
specific
 
intelligence
 
at
 
all
 
since
 
it
 
is
 
only
 
"general".
)

[image: ] (
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83
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209
DLMAIAI01_MC_leicht/Unit
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)

 (
24.01.2022
) (
49
/113
) (
(c)
 
IU
)


 (
General
 
Artificial
 
Intelligence
 
aims
 
to
 
approximate
 
…
Select
 
one:
how
 
humans
 
can
 
reach
 
machines'
 
thinking
 
skills.
a
 
hypothetical
 
society.
human
 
thinking
 
by
 
a
 
machine.
a
 
Singularity
 
in
 
at
 
least
 
one
 
domain.
)

[image: ] (
QUESTION
 
85
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
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)

 (
24.01.2022
) (
50
/113
) (
(c)
 
IU
)


 (
For
 
a
 
device,
 
machine,
 
or
 
robot,
 
to
 
cognitively
 
function
 
at
 
least
 
the
 
human
level
 
of
 
intelligence
 
in
 
more
 
than
 
one
 
domain
 
at
 
the
 
same
 
time,
 
and
 
thereby
 
qualify
 
as
 
General
 
Artificial
 
Intelligence,
 
…
Select
 
one:
is
 
unlikely
 
to
 
happen
 
in
 
the
 
near
 
future
.
can
 
never
 
happen.
has
 
already
 
been
 
demonstrated.
will
 
be
 
demonstrated
 
very
 
soon.
)

[image: ] (
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)

 (
24.01.2022
) (
51
/113
) (
(c)
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)


 (
For
 
a
 
device,
 
machine,
 
or
 
robot,
 
to
 
think
 
abstractly
 
without
 
a
 
prior
experience,
 
…
Select
 
one:
is
 
a
 
condition
 
that
 
will
 
happen
 
soon.
is
 
a
 
condition
 
that
 
will
 
never
 
happen.
is
 
unlikely
 
to
 
happen
 
in
 
the
 
near
 
future
.
has
 
already
 
been
 
demonstrated.
)

[image: ] (
QUESTION
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OF
 
209
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)

 (
24.01.2022
) (
52
/113
) (
(c)
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)


 (
For
 
a
 
device,
 
machine,
 
or
 
robot,
 
to
 
cognitively
 
solve
 
problems
 
independently
without
 
given
 
directions
 
or
 
goals
 
is
 
…
Select
 
one:
a
 
condition
 
that
 
can
 
never
 
happen.
 
has
 
already
 
been
demonstrated.
about
 
to
 
be
 
shown.
unlikely
 
to
 
happen
 
in
 
the
 
near
 
future
.
)


 (
QUESTION
 
89
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
For
 
a
 
device,
 
machine,
 
or
 
robot,
 
to
 
motivate
 
itself
 
to
 
be
 
helpful,
 
benign,
beneficial
 
and
 
a
 
net
 
contributor
 
to
 
society
 
…
Select
 
one:
has
 
already
 
been
 
demonstrated.
cannot
 
be
 
taken
 
for
 
granted.
is
 
about
 
to
 
be
 
shown.
will
 
never
 
happen.
)
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DLMAIAI01_MC_leicht/Unit
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 (
24.01.2022
) (
53
/113
) (
(c)
 
IU
)


 (
Narrow
 
Artificial
 
Intelligence
 
is
 
…
Select
 
one:
predicting
 
new
 
discoveries.
that
 
what
 
is
 
now
 
in
 
operation
 
and
 
on
 
the
 
immediate
 
horizon.
a
 
solution
 
to
 
trivial
 
problems.
narrowly
 
limited
 
to
 
a
 
few
 
fields
 
of
 
inquiries
 
or
 
domains.
)


 (
QUESTION
 
91
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
04
)

 (
Which
 
scientist
 
established
 
the
 
connection
 
between
 
NLP
 
and
 
Artificial
General
 
Intelligence?
Select
 
one:
John
 
McCarthy
Alan
 
Turing
Rene
 
Descartes
Aristotle
)
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 (
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) (
54
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) (
(c)
 
IU
)


 (
Language
 
processing
 
structure
 
is
 
composed
 
of
 
syntax
 
and
 
…
Select
 
one:
choice
 
of
 
words.
grammar.
vocabulary.
 
semantics.
)


 (
QUESTION
 
93
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
Taking
 
a
 
recorded
 
human
 
conversation
 
and
 
converting
 
it
 
to
 
text
 
is
 
called
 
…
Select
 
one:
voice-to-text.
 
voice-voice.
 
text-to-voice.
 
text-to-text.
)
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QUESTION
 
92
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
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 (
What
 
are
 
the
 
reasons
 
Artificial
 
Intelligence
 
applications,
 
like
 
voice-to-
text,
are
 
difficult
 
to
 
implement?
Select
 
one:
Varying
 
pronounciations
 
and
 
dialects
Transmission
 
noise
Background
 
noise
Audio
 
encoding
)


 (
QUESTION
 
95
 
OF
 
209
DLMAIAI01_MC_leicht/Unit
 
04
)

 (
In
 
natural
 
language
 
processing,
 
a
 
machine
 
that
 
can
 
only
 
record
 
spoken
words
 
...
Select
 
one:
is
 
a
 
recording
 
device.
 
is
 
intelligent.
is
 
a
 
translator.
may
 
learn
 
to
 
write
 
over
 
the
 
years
 
as
 
well.
)

[image: ] (
QUESTION
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 (
24.01.2022
) (
56
/113
) (
(c)
 
IU
)


 (
Successful
 
computer
 
vision
 
requires
 
that
 
an
 
image
 
content
 
…
Select
 
one:
can
 
be
 
printed
 
on
 
paper.
can
 
be
 
identified.
can
 
be
 
edited.
can
 
be
 
transmitted
 
over
 
the
 
Internet.
)


 (
QUESTION
 
97
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
04
)

 (
Cloud
 
computing
 
is
 
related
 
to
 
the
 
following
 
consumer
 
trends:
Select
 
one:
Away
 
from
 
owning
 
and
 
more
 
into
 
renting
 
products
 
and
 
services
Cloudcomputing
 
is
 
just
 
a
 
name
 
and
 
has
 
nothing
 
to
 
do
 
with
 
a
 
trend
Towards
 
wanting
 
to
 
own
 
the
 
Cloud
Cloud
 
computing
 
is
 
about
 
the
 
metaphor
 
of
 
drifting
 
in
 
the
 
wind
)
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57
/113
) (
(c)
 
IU
)


 (
Artificial
 
Intelligence
 
contributes
 
to
 
making
 
Supply
 
Chains
 
more
 
efficient
 
by
…
Select
 
one:
encouraging
 
supply
 
chain
 
member
 
firms
 
to
 
do
 
their
 
best
 
individual
 
product
 
forecasting
 
for
 
internal
 
use.
requiring
 
that
 
all
 
supply
 
chain
 
partners
 
use
 
the
 
same
 
accounting
 
software.
forecasting
 
demand
 
and
 
optimizing
 
warehouse
 
operations.
mandating
 
complete
 
compliance
 
with
 
respect
 
to
 
procedures.
)
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A
 
"bit"
 
is
 
the
 
smallest
 
piece
 
of
 
information
 
in
 
a
 
digital
 
computer.
 
Its
 
analog
 
in
a
 
quantum
 
computer
 
is
 
called
 
a
 
q-bit.
 
While
 
a
 
"bit"
 
can
 
only
 
be
 
in
 
0
 
or
 
1
 
state,
 
a
 
qbit
 
can
 
be
 
…
Select
 
one:
neither
 
on
 
or
 
off.
only
 
on.
on,
 
off,
 
or
 
in
 
a
 
superposition
 
thereof.
only
 
off.
)
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As
 
of
 
now,
 
all
 
Artificial
 
Intelligence
 
applications,
 
which
 
are
 
published
 
in
credible
 
press,
 
qualify
 
as
 
Narrow
 
AI.
 
Such
 
applications
 
cover
 
the
 
area
 
of:
Select
 
one:
breaking
 
the
 
cryptocurrency
 
code.
digitizing
 
the
 
human
 
brain
 
memory.
producing
 
a
 
99%
 
accurate
 
weather
 
forecast
 
by
 
street
 
block.
autonomous
 
vehicles,
 
language
 
translations.
)


 (
QUESTION
 
101
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
04
)

 (
The
 
subject
 
of
 
Natural
 
Language
 
Processing
 
fits
 
equally
 
well
 
into
 
these
scientific
 
fields
 
of
 
study:
Select
 
one:
Artificial
 
Intelligence
 
and
 
Linguistics
 
English
 
Literature
 
and
 
World
 
History
Electrical
 
Engineering
 
and
 
Computer
 
Science
Psychology
 
and
 
Psychiatry
)
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NLP
 
technologies
 
are
 
effective
 
in
 
…
Select
 
one:
sentiment
 
analysis.
expert
 
systems.
autonomous
 
vehicles.
data-bases
.
)
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 (
Terminology
 
extraction
 
is
 
a
 
process
 
of
 
analyzing
 
texts
 
by
 
phrases.
 
It
 
is
useful
 
in
 
…
Select
 
one:
inventory
 
planning.
 
invoicing.
autonomous
 
vehicles.
topic
 
identification
 
and
 
information
 
retrieval.
)

[image: ] (
QUESTION
 
102
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
 
04
)

 (
24.01.2022
) (
61
/113
) (
(c)
 
IU
)


 (
Understanding
 
the
 
information
 
content
 
of
 
an
 
image
 
…
Select
 
one:
is
 
not
 
the
 
goal
 
of
 
Computer
 
Vision
 
technology.
is
 
difficult
 
for
 
machines.
 
is
 
difficult
 
for
humans.
was
 
the
 
goal
 
of
 
PROLOG
 
language.
)
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Cloud
 
Computing
 
is:
Select
 
one:
parallel
 
and
 
virtual
 
only.
parallel,
 
distributed
 
and
 
virtual.
virtual
 
and
 
distributed
 
only.
distributed
 
and
 
virtual,
 
but
 
not
 
parallel.
)
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Grid
 
Computing
 
may
 
share
 
resources
 
by
 
agreement,
 
and
 
is
 
…
Select
 
one:
only
 
geographically
 
distributed
 
but
 
not
 
parallel.
parallel
 
and
 
distributed
 
geographically.
 
neither
 
parallel
 
nor
distributed.
parallel
 
but
 
not
 
distributed.
)
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 (
In
 
which
 
way
 
differ
 
Cluster
 
Computing
 
Systems
 
from
 
Cloud
 
computing
systems?
Select
 
one:
Clusters
 
are
 
not
 
parallel.
Clusters
 
are
 
virtual.
In
 
that
 
individual
 
machines
 
are
 
hardwired
 
to
 
act
 
in
 
unison
 
as
 
a
 
cluster.
In
 
that
 
clusters
 
are
 
composed
 
of
 
virtual
 
machines.
)
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 (
Early
 
natural
 
language
 
processing
 
efforts
 
used
 
decision
 
trees
 
to
 
dissect
sentences.
 
What
 
technique
 
did
 
they
 
advance
 
to
 
next?
Select
 
one:
Part-of-speech
 
tagging
Linear
 
algebra
Probability
 
theory,
 
by
 
considering
 
the
 
whole
 
text
 
to
 
be
 
analyzed
Simulations
)
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 (
When
 
daylight
 
enters
 
the
 
human
 
eye,
 
and
 
it
 
is
 
focused
 
on
 
the
 
retina
composed
 
of
 
nerve
 
cells
 
in
 
the
 
form
 
of
 
cones
 
and
 
rods,
 
the
 
process
 
of
 
the
 
brain
 
converting
 
that
 
light
 
into
 
electrical
 
signals,
 
is
 
called
 
…
Select
 
one:
transmission.
 
transduction.
 
transition.
 
transaction.
)
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 (
The
 
technology
 
associated
 
with
 
the
 
notion
 
of
 
IoT
 
-
 
i.e.
 
the
 
"Internet
 
of
Things"
 
-
 
has
 
the
 
ability
 
to
 
measure
 
parameters
 
of
 
a
 
vehicle
 
and
 
driver
 
while
 
driving.
 
This
 
can
 
also
 
affect
 
insurance
 
rates.
 
In
 
what
 
way?
Select
 
one:
To
 
capture
 
any
 
and
 
all
 
measurable
 
data
 
to
 
increase
 
instance
 
premiums.
By
 
creating
 
too
 
much
 
data,
 
this
 
has
 
not
 
been
 
settled
 
yet.
By
 
allowing
 
the
 
determination
 
of
 
insurance
 
rates
 
based
 
on
 
individual
 
risk
 
assessment.
By
 
interfering
 
with
 
the
 
operation
 
of
 
the
 
vehicle,
 
leading
 
to
 
recorded
 
driving
 
errors.
)
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What
 
business
 
are
 
Companies
 
Lyft
 
and
 
Uber
 
are
 
in?
Select
 
one:
Rocketry
 
Crane
 
rentals
 
Bridge
 
crossing
 
Ride
hailing
)
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 (
New
 
automobiles
 
are
 
generally
 
equipped
 
with
 
several
 
self-driving
capabilities,
 
without
 
being
 
self-driving
 
yet.
 
This
 
development
 
trend
 
towards
 
autonomous
 
vehicles
 
in
 
this
 
case
 
is
 
…
Select
 
one:
radical.
 
casual.
 
gradual.
 
disruptive.
)
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 (
How
 
are
 
parking
 
garages
 
affected
 
by
 
the
 
human
 
mobility
 
trend
 
from
 
owning
to
 
renting
 
vehicles?
Select
 
one:
They
 
will
 
face
 
disruptions.
It
 
makes
 
no
 
measurable
 
difference.
It
 
destroys
 
the
 
business
 
completely.
The
 
volume
 
will
 
increase.
)
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 (
How
 
are
 
insurance
 
companies
 
affected
 
by
 
the
 
human
 
mobility
 
trends
 
relative
to
 
autonomous
 
vehicles
 
having
 
fewer
 
accidents?
Select
 
one:
There
 
is
 
no
 
change.
Claims
 
will
 
likely
 
increase.
Claims
 
will
 
likely
 
decline.
There
 
will
 
be
 
a
 
complete
 
loss
 
of
 
business.
)
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The
 
Future
 
intermodal
 
human
 
mobility
 
can
 
be
 
described
 
as
 
the
 
…
Select
 
one:
encouragement
 
of
 
the
 
use
 
of
 
bicycles.
replacement
 
of
 
automobiles
 
with
 
public
 
transportation
 
as
 
much
 
as
 
possible.
connection
 
between
 
rail
 
transportation
 
with
 
automobiles.
efficient
 
movement
 
of
 
people
 
combining
 
many
 
modes
 
of
 
transport.
)
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 (
It
 
is
 
expected
 
that
 
self-driving
 
cars
 
will
 
eventually
 
be
 
safer
 
and
 
have
 
fewer
accidents
 
per
 
1000/km.
 
What
 
effect
 
will
 
this
 
have?
Select
 
one:
Hospital
 
rooms,
 
auto
 
repair
 
shops
 
and
 
insurance
 
rates
 
are
 
unrelated
 
to
 
self-driving
 
cars.
Hospital
 
emergency
 
rooms
 
will
 
need
 
to
 
increase
 
capacity.
Declined
 
insurance
 
rates
Auto
 
repair
 
shops
 
will
 
need
 
to
 
increase
 
capacity.
)
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Digital
 
Health
 
is
 
partially
 
defined
 
as
 
enabling
 
early
 
disease
 
detection
 
that
leads
 
to
 
…
Select
 
one:
nothing
 
at
 
all,
 
it
 
is
 
just
 
a
 
medical
 
forecast.
preventive
 
approaches.
medical
 
errors
 
in
 
the
 
detection
 
process.
false
 
positives
 
and
 
excessive
 
treatment
 
options.
)
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FinTech's
 
focus
 
is
 
on
 
bringing
 
about
 
…
Select
 
one:
efficient
 
transactions
 
like
 
transferring
 
funds,
 
reducing
 
paper
 
work
,
 
lending
 
and
 
trading.
teaching
 
financial
 
analytics
 
at
 
universities
 
primarily.
finishing
 
technology.
managing
 
charitable
 
contributions
 
to
 
Precision
 
Medicine.
)
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What
 
are
 
the
 
issues
 
that
 
FinTech
 
is
 
facing
 
with
 
the
 
public?
Select
 
one:
The
 
lack
 
of
 
"unicorns"
 
to
 
disrupt
 
FinTech
 
technology
 
is
 
an
 
indication
 
of
 
failure.
How
 
to
 
achieve
 
a
 
balance
 
between
 
potential
 
benefits
 
and
 
potential
 
abuse.
Small
 
technology
 
firms
 
are
 
rare
 
in
 
FinTech.
FinTech
 
must
 
be
 
centrally
 
managed
 
by
 
Governments.
)
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Crowdsourcing
 
is
 
about
 
…
Select
 
one:
a
 
situation
 
in
 
which
 
funding
 
is
 
crowded
 
or
 
overwhelmed
 
by
 
many
 
applicants.
collecting
 
money
 
from
 
many
 
people.
focusing
 
more
 
brain-power
 
or
 
other
 
work
 
capacity
 
on
 
a
 
problem.
moving
 
workloads
 
to
 
emerging
 
economies.
)
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 (
What
 
triggered
 
innovations
 
in
 
FinTech?
Select
 
one:
Fairness
 
and
 
equity
Need
 
and
 
opportunity
Innovation
 
is
 
random
Brick-and-mortar
 
retail
 
banks
 
on
 
Main
 
Street
)
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Peer
 
to
 
Peer
 
payment
 
systems
 
are
 
…
Select
 
one:
digital
 
membership
 
organizations
 
under
 
which
 
one
 
can
 
do
 
anything.
virtual
 
check-
 
books.
simple
 
platforms
 
for
 
debiting
 
and
 
crediting
 
peer
 
accounts
 
directly.
accounting
 
package
 
software.
)
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PayPal
 
was
 
a
 
start-up
 
company
 
in
 
1998
 
intended
 
to
 
…
Select
 
one:
run
 
auctions
 
with
 
E-
 
Bay.
improve
 
accuracy
 
in
 
paperwork.
perform
 
conventional
 
payroll
 
services.
disrupt
 
the
 
money
 
transfer
 
business
 
with
 
better
 
services.
)
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FinTech
 
aspires
 
to
 
do
 
the
 
following:
Select
 
one:
mostly
 
strengthen
 
neighborhood
 
brick
 
and
 
mortar
 
banks.
slow
 
down
 
the
 
process
 
of
 
trading
 
securities
 
to
 
prevent
 
manipulations.
improve
 
the
 
legacy
 
of
 
financial
 
systems.
disrupt
 
the
 
field
 
of
 
Finance.
)
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The
 
term
 
"
InsurTech
"
 
was
 
probably
 
inspired
 
by
 
the
 
term
 
FinTech,
 
and
 
it
refers
 
to
 
…
Select
 
one:
insecurity
 
in
 
the
 
insurance
 
industry.
insecurity
 
in
 
industry.
technology
 
in
 
general.
the
 
insurance
 
industry.
)
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 (
The
 
insurance
 
policy
 
buying
 
experience
 
can
 
be
 
handled
 
more
 
efficiently
 
by
…
Select
 
one:
training
 
sales
 
agents
 
in
 
PYTHON
 
to
 
retrieve
 
data
 
faster.
chatbots
 
that
 
can
 
draw
 
on
 
rates
 
and
 
personal
 
circumstances
 
that
 
may
 
apply.
Cloud
 
computing
 
to
 
save
 
operating
 
expenses.
providing
 
training
 
to
 
human
 
sales
 
agents
 
about
 
methods.
)
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 (
In
 
modern
 
retail
 
management
 
the
 
term
 
"a
 
store"
 
can
 
be
 
defined
 
as
 
this:
Select
 
one:
A
 
call-center
 
called
 
a
 
"store"
Storage,
 
as
 
in
 
a
 
warehouse
A
 
retail
 
outlet
 
on
 
Main
 
Street,
 
a
 
channel
 
such
 
as
 
e-commerce
 
website,
 
or
 
call
 
center,
 
among
 
others
A
 
true
 
"store"
 
by
 
definition
 
is
 
a
 
place
 
customers
 
physically
 
walk
 
into
 
and
 
nothing
 
else
)
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"Omni
 
Channel
 
Marketing"
 
means
 
marketing
 
…
Select
 
one:
through
 
all
 
available
 
channels,
 
which
 
together
 
form
 
a
 
network.
does
 
not
 
apply
 
to
 
marketing
 
through
 
Main
 
Street
 
stores.
is
 
a
 
reservation
 
system
 
for
 
Omni
 
Hotels.
omni
 
as
 
in
 
many,
 
in
 
retail
 
means
 
a
 
number
>10.
)
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Future
 
Artificial
 
Intelligence
 
applied
 
in
 
the
 
field
 
of
 
Education
 
is
 
likely
 
to
 
…
Select
 
one:
identify
 
troubled
 
students
 
for
 
early
 
remediation.
guarantee
 
success
 
for
 
faculty.
guarantee
 
success
 
for
 
faculty
 
and
 
students.
guarantee
 
success
 
for
 
all
 
students.
)
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 (
The
 
Future
 
Artificial
 
Intelligence
 
progress
 
applied
 
to
 
the
 
field
 
of
 
electrical
grids
 
is
 
likely
 
to
 
…
Select
 
one:
eliminate
 
electric
 
outages
 
completely.
 
reduce
 
the
 
cost
 
of
 
electricity
 
by
50%.
create
 
self-healing
 
electrical
 
grids
 
via
 
network
 
analysis,
 
to
 
minimize
 
outages.
eliminate
 
the
 
need
 
for
 
electrical
 
grids
 
altogether.
)
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 (
Artificial
 
Intelligence
 
is
 
becoming
 
measurable
 
in
 
Natural
 
Language
Processing;
 
these
 
measures
 
are:
Select
 
one:
Accuracy
 
in
 
language
 
translations,
 
recognition
 
of
 
idioms,
 
speed
 
and
 
ease
 
in
 
day
 
to
 
day
 
translation.
The
 
ability
 
to
 
handle
 
a
 
thoughtful
 
discussion.
The
 
evidence
 
of
 
self-
 
awareness.
The
 
complete
 
independence
 
in
 
choosing
 
words
 
from
 
another
 
language.
)
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 (
Mobility
 
technology
 
is
 
concerned
 
with
 
providing
 
a
 
safe
 
and
 
efficient
 
transport
…
Select
 
one:
of
 
people
 
and
 
cargo
 
from
 
point
 
A
 
to
 
point
 
B.
of
 
people
 
from
 
low
 
income
 
to
 
middle
 
income.
of
 
cargo
 
from
 
point
 
A
 
to
 
point
 
B.
of
 
people
 
from
 
middle
 
income
 
to
 
upper
 
income.
)
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 (
Autonomous
 
vehicles
 
operating
 
nowadays
 
use
 
Radar
 
and
 
…
Select
 
one:
cameras,
 
GPS
 
and
 
cloud
 
services.
GPS
 
only.
 
cameras
 
only.
 
GPS
 
and
 
cameras
only.
)
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 (
Personalized
 
medicine
 
will,
 
in
 
the
 
future,
 
be
 
able
 
to
 
treat
 
…
Select
 
one:
a
 
few
 
more
 
patients,
 
without
 
curing
 
any.
what
 
are
 
now
 
statistical
 
outlier
 
patient
 
cases.
and
 
cure
 
every
 
patient.
only
 
patients
 
with
 
very
 
few
 
diseases.
)
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 (
Crowd
 
lending
 
is
 
a
 
situation
 
…
Select
 
one:
when
 
lenders
 
can't
 
be
 
located.
when
 
there
 
is
 
little
 
lending
 
demand.
in
 
which
 
few
 
investors
 
provide
 
large
 
amounts
 
of
 
money.
in
 
which
 
many
 
lenders
 
provide
 
small
 
amounts
 
of
 
money.
)
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Corporate
 
internal
 
innovations
 
mostly
 
originate
 
from
 
what
 
source?
Select
 
one:
Globally,
 
as
 
in
 
international
From
 
within
 
the
 
corporation
 
itself,
 
i.e.
 
the
 
employees
From
 
management
 
only
From
 
the
 
whole
 
industry,
 
but
 
not
 
another
 
industry
)
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What
 
is
 
Bitcoin?
Select
 
one:
A
 
blockchain
 
An
 
algorithm
A
 
cryptocurrency
A
 
company
)
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What
 
methods
 
are
 
used
 
to
 
detect
 
fraud
 
in
 
financial
 
transactions?
Select
 
one:
ML,
 
because
 
it
 
requires
 
computers
 
to
 
be
 
exact
High
 
level
 
sorting
 
on
 
powerful
 
computers
ML,
 
because
 
it
 
does
 
not
 
require
 
coding
 
rules
 
by
 
hand
Chatbots
)
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 (
Artificial
 
Intelligence
 
now
 
allows
 
personalization
 
of
 
insurance
 
rates.
 
Safe
drivers
 
now
 
can
 
be
 
rewarded
 
with
 
lower
 
rates,
 
enabled
 
by:
Select
 
one:
only
 
vehicle
 
sensing
 
histories.
vehicle
 
sensing
 
and
 
IoT
 
data.
NLP
 
or
 
natural
 
language
 
processing.
IoT
 
alone.
)
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 (
Robo
 
Advising
 
in
 
FinTech
 
qualifies
 
as
 
Artificial
 
intelligence
 
because
 
…
Select
 
one:
its
 
portfolio
 
allocations
 
are
 
done
 
by
 
a
 
single
 
advisor.
its
 
portfolio
 
allocations
 
is
 
performed
 
by
 
a
 
committee
 
of
 
human
 
investment
 
advisors.
portfolio
 
advising
 
is
 
done
 
by
 
a
 
single
 
autonomous
 
robot.
it
 
performs
 
portfolio
 
allocations
 
algorithmically.
)
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 (
Artificial
 
Intelligence
 
is
 
becoming
 
measurable.
 
For
 
autonomous
 
vehicles
 
for
example,
 
some
 
early
 
metrics
 
that
 
are
 
being
 
applied
 
are:
Select
 
one:
quantifying
 
how
 
well
 
the
 
cars
 
are
 
designed
 
to
 
look.
count
 
of
 
Artificial
 
Intelligence
 
gadget
 
failures.
how
 
fast
 
they
 
can
 
drive
 
and
 
how
 
many
 
sell.
quantifying
 
how
 
well
 
a
 
vehicle
 
obeys
 
traffic
 
laws
 
and
 
reduces
 
accidents.
)

[image: ] (
QUESTION
 
140
 
OF
 
209
DLMAIAI01_MC_mittel/Unit
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)

 (
24.01.2022
) (
86
/113
) (
(c)
 
IU
)


 (
In
 
what
 
respect
 
does
 
the
 
technology
 
of
 
Digital
 
Health
 
differ
 
from
 
prior
 
non
digital
 
healthcare?
Select
 
one:
It
 
has
 
nothing
 
to
 
do
 
with
 
treatment,
 
Digital
 
Health
 
relates
 
only
 
to
 
digital
 
record
 
keeping.
Digital
 
Health
 
rejects
 
all
 
prior
 
medical
 
treatment
 
approaches.
The
 
notion
 
that
 
one
 
disease
 
is
 
addressed
 
by
 
one
 
treatment
 
is
 
confirmed.
The
 
notion
 
of
 
older
 
paradigm
 
of
 
'one
 
disease
 
equals
 
one
 
treatment'
 
is
 
partially
 
rejected.
)

[image: ] (
QUESTION
 
142
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
05
)

 (
24.01.2022
) (
87
/113
) (
(c)
 
IU
)


 (
In
 
treating
 
a
 
patient,
 
Precision
 
Medicine
 
considers
 
the
 
patient's
 
…
Select
 
one:
environment
 
but
 
not
 
the
 
genes.
health
 
insurance
 
company
 
for
 
timely
 
payments.
digital
 
record
 
to
 
be
 
error-
 
free.
genetic
 
make-up
 
and
 
his/her
 
life
 
experience
 
or
 
environment.
)

[image: ] (
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OF
 
209
DLMAIAI01_MC_schwer/Unit
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 (
24.01.2022
) (
88
/113
) (
(c)
 
IU
)


 (
An
 
Artificial
 
Intelligence
 
deep
 
Machine
 
Learning
 
study
 
in
 
medical
 
imaging
has
 
shown
 
the
 
algorithm
 
to
 
be
 
>92%
 
accurate
 
vs
 
the
 
pathologists'
 
being
>96%
 
accurate.
 
The
 
combined
 
ML
 
algorithm
 
and
 
human
 
accuracy
 
rate
 
was
>99%
 
accurate.
 
One
 
can
 
conclude
 
from
 
this
 
that
 
...
Select
 
one:
both
 
ML
 
algorithms
 
and
 
medical
 
specialists
 
are
 
necessary.
the
 
pathologists
 
can
 
be
 
reassigned
 
as
 
>96%
 
is
 
good
 
enough.
the
 
pathologists
 
is
 
better
 
and
 
the
 
ML
 
algorithm
 
is
 
a
 
failure.
at
 
some
 
future
 
date,
 
legislation
 
requires
 
that
 
all
 
pathologist
 
should
 
be
 
replaced.
)


 (
QUESTION
 
145
 
OF
 
209
DLMAIAI01_MC_schwer/Unit
 
05
)

 (
A
 
decentralized
 
digital
 
ledger
 
in
 
the
 
field
 
of
 
FinTech
 
is
 
known
 
as
 
…
Select
 
one:
DDL.
a
 
blockchain.
 
P2P.
a
 
currency.
)

[image: ] (
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 (
24.01.2022
) (
89
/113
) (
(c)
 
IU
)


 (
The
 
impact
 
of
 
insurtech
,
 
like
 
FinTech,
 
and
 
Artificial
 
Intelligence
 
on
 
the
insurance
 
industry,
 
is
 
likely
 
to
 
be
 
…
Select
 
one:
fewer
 
actuaries
 
and
 
adjusters,
 
lower
 
revenue
 
due
 
to
 
insurance
 
premiums,
 
and
 
a
 
premium
 
rate
 
schedule
 
that
 
poorly
 
represents
 
true
 
risk.
fewer
 
actuaries
 
but
 
more
 
adjusters,
 
lower
 
revenue
 
due
 
to
 
insurance
 
premiums,
 
and
 
a
 
premium
 
rate
 
schedule
 
that
 
more
 
fairly
 
represents
 
true
 
risk.
fewer
 
actuaries
 
and
 
adjusters,
 
higher
 
revenue
 
due
 
to
 
insurance
 
premiums,
 
and
 
a
 
premium
 
rate
 
schedule
 
that
 
more
 
fairly
 
represents
 
true
 
risk.
fewer
 
actuaries
 
and
 
adjusters,
 
lower
 
revenue
 
due
 
to
 
lessening
 
insurance
 
premiums,
 
and
 
a
 
premium
 
rate
 
schedule
 
that
 
more
 
fairly
 
represents
 
true
 
risk.
)

[image: ] (
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 (
24.01.2022
) (
90
/113
) (
(c)
 
IU
)


 (
Fraud
 
detection
 
data
 
includes
 
among
 
others
 
…
Select
 
one:
only
 
transaction
 
patterns.
only
 
device
 
identification.
devices
 
identification,
 
location
 
codes,
 
transaction
 
patterns.
only
 
location
 
codes.
)


 (
QUESTION
 
148
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
01
)

 (
Why
 
is
 
an
 
understanding
 
of
 
Artificial
 
Intelligence
 
History
 
important,
 
briefly
 
explain?
)

Knowing were ideas come from helps us understand the original intent and puts it into perspective (3 points), and helps us understand the present state and possible future states (3 points)	Comment by Johnson, Lila: Open-answer solutions are signified by green text. Please maintain this in the translation.
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24.01.2022
) (
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) (
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)


 (
What
 
is
 
the
 
name
 
of
 
an
 
early
 
list
 
oriented
 
computer
 
language
 
used
 
in
 
AI?
 
What
 
does
 
it
 
mean?
)

LISP (3 points), list processing (3 points)


 (
QUESTION
 
150
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
01
)

 (
What
 
is
 
the
 
name
 
of
 
an
 
early
 
computer
 
language
 
devoted
 
to
 
programming
 
logic,
 
and
 
what
 
is
 
the
 
meaning
 
of
 
the
 
name?
)

PROLOG (3 Points), programming based on logic (3 points) - or programmation en logic

 (
QUESTION
 
151
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
01
)

 (
IoT
 
stands
 
for
 
Internet
 
of
 
Things.
 
Give
 
a
 
brief
 
example
 
of
 
what
 
that
 
is.
)

Electronically interconnected household- personal product that can control the household itself (3 points) , wearable technology (3 points)
[image: ] (
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24.01.2022
) (
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 (
Cognition
 
includes
 
several
 
faculties
 
like
 
perception,
 
name
 
two
 
more.
)

Sensing, intelligence, reasoning, understanding, thinking, apprehension (any two = 6 points), (any one = 3 points)

 (
QUESTION
 
153
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
01
)

 (
What
 
is
 
the
 
name
 
of
 
the
 
English
 
mathematician
 
after
 
whom
 
a
 
machine
 
intelligence
 
test
 
is
 
named?
 
Discuss
 
his
 
contribution
 
to
 
AI.
)

Alan Turing (3 points), The Turing Test of machine intelligence , he is Identified with the idea that machines can learn (3 points).

 (
QUESTION
 
154
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
01
)

 (
What
 
is
 
the
 
name
 
of
 
the
 
first
 
American
 
scientist
 
to
 
use
 
the
 
term
 
"artificial
 
intelligence"
 
and
 
what
 
well
 
known
 
corporation
 
was
 
involved?
)

John McCarthy (3 points), IBM (3 points)
[image: ] (
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 (
24.01.2022
) (
93
/113
) (
(c)
 
IU
)


 (
What
 
does
 
NLP
 
in
 
AI
 
stand
 
for
 
and
 
how
 
is
 
it
 
applied?
)

Natural Language Processing (3 points), translations and "assistants" (3 points)


 (
QUESTION
 
156
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
01
)

 (
What
 
were
 
two
 
factors
 
leading
 
to
 
the
 
rise
 
of
 
Expert
 
Systems
?
)

Computing became less costly,(3 points) software became easier to operate due to higher level languages (3 points)

 (
QUESTION
 
157
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
01
)

 (
Linguistics
 
refers
 
to
 
Language,
 
which
 
has
 
syntax
 
and
 
3
 
other
 
components.
 
Name
 
the
 
others.
)

Semantic (2 points), phonetic (2 points) or dialect (2 points)
[image: ] (
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 (
24.01.2022
) (
94
/113
) (
(c)
 
IU
)


 (
What
 
is
 
it
 
that
 
makes
 
IoT,
 
the
 
Internet
 
of
 
Things,
 
beneficial
 
and
 
attractive?
)

The ability to control connected household utilities (3 points) and monitor personal health (3 points)

 (
QUESTION
 
159
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
01
)

 (
Gaming
 
and
 
Game
 
Theory
 
are
 
relevant
 
to
 
Artificial
 
Intelligence
 
for
 
several
 
reasons.
 
Name
 
two.
)

To study decision making, to develop new methods for problem solving, to find strategies in adversarial conditions, reason about utility (any one is 3 points)

 (
QUESTION
 
160
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
01
)

 (
Name
 
the
 
key
 
objective
 
of
 
the
 
game
 
of
 
GO.
)

Surround territory on the board (3 points), gain area (3 points)
[image: ] (
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 (
24.01.2022
) (
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/113
) (
(c)
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)
 (
QUESTION
 
161
 
OF
 
209
DLMAIAI01_Offen_schwer_F1/Unit
 
01
)

 (
Name
 
three
 
foundational
 
thinkers
 
from
 
the
 
time
 
before
 
1900
 
that
 
contributed
 
with
 
ideas
 
and
 
insights
 
relevant
 
to
 
the
 
study
 
of
 
AI
 
and
 
describe
 
their
 
contribution
 
to
 
the
 
field.
)

Aristotle (3 points) - formalized logical reasoning (3 points)
Leonardo da Vinci (3 points) - first designs for a computing machine (3 points) Thomas Hobbes (3 points) - found similarities between reasoning and calculations (3 points)
René Descartes (3 points) - seminal thoughts on the mechanization of reasoning (3 points) - as did Leibniz or LLul
David Hume (3 points) - foundational work on induction as learning from experience and causality.
Any three of the four possibilities yield the maximum points.


 (
QUESTION
 
162
 
OF
 
209
DLMAIAI01_Offen_schwer_F1/Unit
 
01
)

 (
Define
 
the
 
term
 
"AI
 
Winter".
 
Name
 
four
 
reasons
 
for
 
the
 
occurrence
 
of
 
AI
 
Winters.
)

A period characterized by a prolonged decrease in interest (3 points) and funding (3 points) in artificial intelligence research. Reasons: unfounded expectations (3 points), Non-performance of approaches and paradigms (3 points), changes in the funding system (3 points), compute and data infrastructure not in place to reach full potential of a paradigm or approach.(3 points)


 (
24.01.2022
) (
96
/113
) (
(c)
 
IU
)


 (
Among
 
the
 
programming
 
languages
 
applicable
 
to
 
Artificial
 
Intelligence
 
and
 
Expert
 
Systems,
 
like
 
Python,
 
LISP,
 
R,
 
C+++,
 
PROLOG,
 
JAVA,
 
which
 
two
 
came
 
first?
)

Prolog (3 points), LISP (3 points)


 (
QUESTION
 
164
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
02
)

 (
Name
 
the
 
two
 
main
 
constituent
 
parts
 
that
 
make
 
up
 
an
 
Expert
 
System.
)

Knowledge Base (3 points); Inference Engine (3 points)


 (
QUESTION
 
165
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
02
)

 (
The
 
term
 
PROLOG
 
stands
 
for,
 
or
 
is
 
an
 
abbreviation
 
of
 
what?
)

Programming (3 points) in logic (3 points); or: programation (3 points) en logique (3 points)
[image: ] (
QUESTION
 
163
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
02
)

 (
24.01.2022
) (
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 (
If
 
given
 
bad
 
data
 
but
 
a
 
high
 
correlations
 
coefficient
 
in
 
the
 
context
 
of
 
a
 
statistical
 
problem,
 
what
 
is
 
the
 
end
 
result
?
 
Discuss.
)

Still meaningless, (3 points) correlation is not causation (3 points)


 (
QUESTION
 
167
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
02
)

 (
What
 
attributes
 
of
 
PROLOG,
 
the
 
language,
 
helped
 
in
 
the
 
introduction
 
and
 
preparation
 
for
 
Artificial
 
intelligence?
)

The language is based on logic (2 points), relationships (2 points), and inferences (2 points).

 (
QUESTION
 
168
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
02
)

 (
Give
 
three
 
applied
 
examples
 
from
 
the
 
health
 
care
 
industry
 
in
 
which
 
AI
 
plays
 
a
 
role.
)

Wearable monitoring devices (2 points), prescription agent (2 points), scheduling (2 points)
[image: ] (
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 (
24.01.2022
) (
98
/113
) (
(c)
 
IU
)


 (
Give
 
two
 
examples
 
from
 
the
 
automobile/transportation
 
industry
 
in
 
which
 
AI
 
plays
 
an
 
observing
 
role.
)

Sensing devices to monitor the driver (3 points), sensing devices to monitor the outside of the vehicle for threats (3 points)

 (
QUESTION
 
170
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
02
)

 (
Give
 
three
 
examples
 
from
 
the
 
Finance
 
sector
 
in
 
which
 
AI
 
plays
 
a
 
purposeful
 
role.
)

Fraud pattern detection (2 points), signature matching from scanned sample (2 points), robo-advising (2 points)

 (
QUESTION
 
171
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
02
)

 (
Give
 
two
 
examples
 
from
 
the
 
manufacturing
 
sector
 
in
 
which
 
AI
 
plays
 
a
 
role.
)

Correctly assembling parts for a complex finished product like an aircraft, (3 points), generating possible options to get a good product design (3 points)
[image: ] (
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) (
99
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 (
Give
 
two
 
examples
 
from
 
the
 
education
 
sector
 
in
 
which
 
AI
 
plays
 
a
 
role.
)

Personalized online teaching, (3 points), equitable grading of tests,(3 points)


 (
QUESTION
 
173
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
02
)

 (
Give
 
an
 
example
 
from
 
the
 
retail
 
sector
 
in
 
which
 
AI
 
plays
 
a
 
role.
)

Website tracking of shifting consumer interest, (3 points) chatbots, (3 points)


 (
QUESTION
 
174
 
OF
 
209
DLMAIAI01_Offen_schwer_F1/Lektion
 
02
)

 (
Name
 
five
 
characteristic
 
language
 
constructs
 
of
 
the
 
PROLOG
 
programming
 
language.
 
Based
 
on
 
this
 
language
 
constructs,
 
classify
 
PROLOG's
 
programming
 
paradigm
 
and
 
compare
 
it
 
to
 
the
 
paradigm
 
of
 
common
 
programming
 
languages
 
existing
 
at
 
the
 
time
 
PROLOG
 
was
 
designed.
)

Facts (3 points), predicates (3 points), rules (3 points), queries (3 points), goals (3 points). Prolog is a declarative language (3 points) - as opposed to the common imperative languages (3 points)
[image: ] (
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OF
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 (
24.01.2022
) (
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/113
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 (
QUESTION
 
175
 
OF
 
209
DLMAIAI01_Offen_schwer_F1/Lektion
 
02
)

 (
Name
 
and
 
describe
 
three
 
different
 
ways
 
of
 
implementing
 
a
 
knowledge
 
base
 
in
 
an
 
Expert
 
System.
)

Case-based (3 points) systems - store examples of concrete problems together with a successful solution (3 Points); Rule-based systems (3 points) represent the knowledge base in the form of facts and if-a-then-b-type rules that describe relations between facts (3 points); decision trees (3 points) are typically generated by analyzing a set of examples (3 points).

 (
QUESTION
 
176
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
03
)

 (
How
 
would
 
you
 
explain
 
the
 
term
 
neuro
 
science
 
to
 
a
 
person
 
who
 
has
 
never
 
come
 
across
 
the
 
term
 
before?
)

"Neuro" refers to the nerve cells, (3 points), while "science" implies a body of knowledge (3 points)

 (
QUESTION
 
177
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
03
)

 (
The
 
bodies
 
of
 
knowledge
 
related
 
to
 
cognitive
 
science
 
includes
 
psychology,
 
neuro
 
science
 
and
 
…
 
Name
 
three
 
others.
)

Philosophy (2 points), linguistics (2 points), anthropology, (2 points), AI (2 points)


 (
24.01.2022
) (
101
/113
) (
(c)
 
IU
)


 (
Name
 
the
 
constituent
 
parts
 
of
 
a
 
neuron
 
(nerve
 
cell).
)

Dendrites (2 points), soma (2 points), axon (2 points)


 (
QUESTION
 
179
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
03
)

 (
Name
 
two
 
functions
 
that
 
the
 
brain
 
performs.
)

Control of the body function (3 points), sensor signal processing ( 3 points)


 (
QUESTION
 
180
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
03
)

 (
The
 
human
 
brain
 
receives
 
signals
 
from
 
its
 
sensing
 
organs,
 
like
 
eyes
 
for
 
seeing
 
and
 
nose
 
for
 
smelling.
 
Name
 
three
 
other
 
sense
 
modalities
 
or
 
sub-
 
types
 
of
 
sensory
 
experiences.
)

Pain (2 points), balance (2 points), touch (2 points), thermoception (2 points), hearing (2 points), taste (2 points), balance(2 points), proprioception (2 points)
[image: ] (
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 (
24.01.2022
) (
102
/113
) (
(c)
 
IU
)


 (
What
 
parts
 
of
 
the
 
neuron
 
are
 
dedicated
 
to
 
the
 
transmission
 
of
 
signals?
)

Dendrites (3 points), axon (3 points)


 (
QUESTION
 
182
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
03
)

 (
Name
 
and
 
describe
 
a
 
hypothetical
 
future
 
event
 
in
 
which
 
General
 
Artificial
 
Intelligence
 
is
 
attained
 
which
 
can
 
improve
 
itself.
)

The technological singularity (3 points), recursive self-optimization leads to an intelligence explosion that leaves mankind behind (3 points)

 (
QUESTION
 
183
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
03
)

 (
Define
 
and
 
describe
 
the
 
term
 
meta
 
learning.
)

Learning how to learn (3 points) - abstract from individual learning scenarios to find successful common strategies and approaches (3 points)
[image: ] (
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OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
03
)

 (
24.01.2022
) (
103
/113
) (
(c)
 
IU
)


 (
Discuss
 
what
 
makes
 
neuro
 
science
 
relevant
 
to
 
Artificial
 
Intelligence,
 
i.e.
 
what
 
does
 
neuro
 
science
 
do?
)

Because neuro science studies how emotions (3 points), behavior, (3 points) and basic human functions (3 points) result from the workings of nerve cells (3 points), neural circuits (3 points) and functionally distinct brain regions (3 points)

 (
QUESTION
 
185
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
03
)

 (
Name
 
three
 
functions
 
of
 
the
 
parietal
 
lobe
 
of
 
the
 
human
 
brain
 
and
 
give
 
an
 
example.
)

Interpretation of sensory input (3 points). It constructs our spatial (3 points)-visual (3 points) perception and interprets vision (3 points), auditory (3 points), and touch (3 points) signals.

 (
QUESTION
 
186
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
03
)

 (
Explain
 
the
 
function
 
of
 
the
 
temporal
 
lobe.
)

Understanding of language (3 points), the formation of memory (3 points), sequencing (3 points) and organization (3 points). It is also involved in complex vision tasks, such as the recognition of objects (3 points) and faces (3 points).
[image: ] (
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OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
03
)

 (
24.01.2022
) (
104
/113
) (
(c)
 
IU
)


 (
Conscience
 
is
 
one
 
of
 
the
 
human
 
faculties.
 
Name
 
six
 
other
 
human
 
faculties.
)

Self-awareness (3 points), judgement (3 points), language (3 points) , imagination (3 points), memory, (3 points), thinking (3 points)

 (
QUESTION
 
188
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
03
)

 (
What
 
makes
 
Generative
 
Adversarial
 
Neural
 
Networks
 
(GANs)
 
'adversarial'.
 
Describe.
)

A GANN consists of two (3 points) neural networks with opposing objectives (3 points). The generator network (3 points) produces artificial data sets (3 points) that the discriminator network (3 points) tries to disambiguate from real data samples (3 points).

 (
QUESTION
 
189
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
04
)

 (
In
 
Computer
 
Vision,
 
a
 
computer
 
has
 
to
 
not
 
only
 
"see"
 
the
 
content,
 
but
 
also
 
to
…
)

understand the image content (3 points), label the content (3 points)
[image: ] (
QUESTION
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OF
 
209
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 (
24.01.2022
) (
105
/113
) (
(c)
 
IU
)


 (
Give
 
three
 
examples
 
of
 
practical
 
applied
 
Computer
 
Vision.
)

Face recognition (2 points), autonomous driving (2 points), medical image analysis (2 points)

 (
QUESTION
 
191
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
04
)

 (
Name
 
three
 
examples
 
of
 
higher
 
level
 
image
 
features.
)

Edges (2 points), corners (2 points), ridges (2 points), blobs (2 points)


 (
QUESTION
 
192
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
04
)

 (
A
 
machine
 
displays
 
human-like
 
intelligence
 
in
 
one
 
domain.
 
Comment
 
and
 
define
 
what
 
kind
 
of
 
Artificial
 
Intelligence
 
this
 
is.
)

Narrow-AI (3 points) or weak AI (3 points)
[image: ] (
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OF
 
209
DLMAIAI01_Offen_leicht/Unit
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 (
24.01.2022
) (
106
/113
) (
(c)
 
IU
)


 (
Under
 
Cloud
 
Computing,
 
what
 
are
 
the
 
economic
 
incentives
 
for
 
a
 
user
 
to
 
sign
 
up?
)

Rent resources v buying (3 points), dynamic scaling of resources (3 points)


 (
QUESTION
 
194
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
04
)

 (
Describe
 
three
 
steps
 
in
 
Computer
 
Vision
 
before
 
an
 
image
 
can
 
be
 
understood.
)

1) Acquiring the image (2 points)
2) processing the image like sharpening, color etc. (2 points) and
3) high level feature extraction (2 points)


 (
QUESTION
 
195
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
04
)

 (
Explain
 
the
 
ultimate
 
goal
 
of
 
Natural
 
Language
 
Processing
 
(NLP)
 
in
 
a
 
few
 
sentences.
)

For humans to communicate with machines in human language (3 points), for machines to comprehend text (3 points).
[image: ] (
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OF
 
209
DLMAIAI01_Offen_leicht/Unit
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 (
24.01.2022
) (
107
/113
) (
(c)
 
IU
)


 (
Explain
 
in
 
a
 
few
 
words,
 
how
 
are
 
Artificial
 
Intelligence
 
and
 
computing
 
technologies
 
connected
 
or
 
related?
)

Work hand-in-hand, ( 2 points), AI dependent on computing progress (2 points), mutually dependent (2 points)

 (
QUESTION
 
197
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
04
)

 (
Name
 
and
 
explain
 
three
 
reasons
 
based
 
on
 
the
 
variability
 
of
 
features
 
that
 
illustrate
 
why
 
computer
 
vision's
 
task
 
to
 
recognize
 
objects
 
is
 
a
 
hard
 
problem.
)

Foreshortening (3 points) - visual patterns viewed at slant appear distorted. (3 points) Aspect (3 points) - objects look different when seen from different directions (3 points) Occlusion (3 points) - parts of objects can be covered and thus not visible (3 points) Deformation (3 points) - Many objects have internal degrees of freedom that depending on configuration change the appearance of the object (3 points)
Only three out of the four given possibilities need to be answered to achieve maximum points.
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 (
QUESTION
 
198
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
04
)

 (
Name
 
and
 
explain
 
three
 
characteristics
 
of
 
natural
 
languages
 
that
 
distinguish
 
them
 
from
 
formal
 
languages
 
like
 
programming
 
languages.
)

No rigorous grammar structure (3 points) - In every natural language there are cases of sentences where the grammaticality of the sentence can be questioned yet every speaker of said language can interpret the sentence without difficulty. (3 points) Ambiguity (3 points) - it is possible to construct sentences in natural languages with multiple possible interpretations (3 points)
Large and changing vocabulary (3 points) - compared to formal languages, natural languages have huge vocabularies and the vocabulary of any living language is constantly evolving (3 points)

 (
QUESTION
 
199
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
04
)

 (
Name
 
and
 
describe
 
three
 
characteristics
 
of
 
Cloud
 
Computing.
)

Virtualized (3 points) - resources are provisioned in the form of virtual constructs not physical entities (3 points); networked (3 points) - the resources are interconnected and available via the internet (3 points), geographically distributed (3 points) - resources can be allocated and accessed at any place (3 points)
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24.01.2022
) (
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/113
) (
(c)
 
IU
)


 (
With
 
respect
 
to
 
people's
 
mobility,
 
how
 
is
 
the
 
term
 
"intermodal
 
travel"
 
defined
 
and
 
what
 
are
 
the
 
challenges?
)

Travelling from A to B via two or more modes of travel, like train and bus for instance (3 points), seamless integration of mobility suppliers (3 points)

 (
QUESTION
 
201
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
05
)

 (
What
 
advantages
 
does
 
Crowdsourcing
 
have?
 
Elaborate
 
briefly.
)

The advantage lies in a larger variety of novel solutions to a given problem that may emerge (4 points), Innovation, creativity and collaboration are enhanced (2 points)

 (
QUESTION
 
202
 
OF
 
209
DLMAIAI01_Offen_leicht/Unit
 
05
)

 (
Name
 
and
 
discuss
 
two
 
examples
 
in
 
applied
 
retail
 
Artificial
 
Intelligence
 
that
 
directly
 
affect
 
the
 
person.
)

Virtual fitting of clothes, sun glasses etc. (3 points), analysis of shopping behaviour (3 points)
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 (
How
 
will
 
the
 
trend
 
from
 
internal
 
combustion
 
engine
 
to
 
electric
 
engine
 
in
 
automobiles
 
affect
 
the
 
car
 
repair
 
business?
)

Decline as fewer parts are required (3 points), social impact in terms of employment and training (3 points)

 (
QUESTION
 
204
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
05
)

 (
How
 
will
 
the
 
trend
 
towards
 
autonomous
 
automobiles
 
affect
 
the
 
automobile
 
insurance
 
business?
 
Elaborate.
)

Insurance rates will decline (3 points), as a result of lower risk due to fewer accidents, reduced car ownership (3 points)

 (
QUESTION
 
205
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
05
)

 (
Digital
 
Health
 
relies
 
on
 
four
 
pillars,
 
from
 
which
 
early
 
disorder
 
detection
 
is
 
one
 
of
 
them.
 
Name
 
the
 
other
 
three.
)

Personalization at the gene level (2 points), precision medicine (2 points), combined evidence-based and experience-based in decision making relative to a patients' condition (2 points)
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 (
How
 
can
 
the
 
unique
 
patient-doctor
 
relationship
 
change
 
as
 
a
 
result
 
of
 
precision
 
medicine?
)

The patient will become a better-informed partner (3 points) that is better prepared to make informed decisions about treatment options (3 points)

 (
QUESTION
 
207
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
05
)

 (
What
 
is
 
one
 
tool
 
that
 
enables
 
digital
 
transfer
 
of
 
funds
 
without
 
the
 
involvement
 
of
 
a
 
central
 
banking
 
system?
)

Cryptocurrency (4 points), based on block chain technology (2)


 (
QUESTION
 
208
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
05
)

 (
Name
 
and
 
describe
 
three
 
major
 
trends
 
in
 
medicine
 
that
 
are
 
supported
 
by
 
AI
 
technology.
)

Preventive medicine (3 points) - AI helps with interpretation of early onset symptoms (3 points); personalization (3 points)- AI helps to uncover relevant health factors at the individual level (3 points); Precision medicine (3 points)- AI pattern recognition techniques and robotics support this trend(3 points); Evidence based medicine (3 points) - AI helps to uncover important statistical correlations as well as causal factors. (3 points)
[image: ] (
QUESTION
 
206
 
OF
 
209
DLMAIAI01_Offen_mittel/Unit
 
05
)

 (
24.01.2022
) (
112
/113
) (
(c)
 
IU
)
 (
QUESTION
 
209
 
OF
 
209
DLMAIAI01_Offen_schwer_F2/Lektion
 
05
)

 (
Name
 
and
 
describe
 
three
 
areas,
 
in
 
which
 
AI
 
is
 
likely
 
to
 
impact
 
the
 
insurance
 
industry
 
and
 
its
 
customers.
)

Employment (3 points): Fewer actuaries and adjusters will be required (3 points); Revenue (3 points): Insurance companies will have lower revenue (lower risk with lower premiums) (3 points).
Consumers (3 points): Premiums will better represent consumer risk (3 points).
 (
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